COLLEGE OF ENGINEERING AND TECHNOLOGY

{Approved by AICTE, New Delhi & Affiliated to Pondicherry University)

VALUE ADDED COURSES

2020-2021

Department of Information Technology
20IT01- Computer Graphics

MARK SHEET
SI. No Register Student Name Marks
Number
1 17TH3101 | S. JAYAVARTHINI 88
2 17TH3102 | KEERTHANA R 96
3 17TH3103 | PARAMESWARI V 84
4 17TH3104 | SUCITHA E 92
5 17TH3105 | YASMEEN S 96
\
WYY
oD IPAL

P ! 7
Dr. S. SEENFUV SAMURTHI, M.E.. Ph.L.
\ PRINCIPAL
RAAK College ngineering & Technology
No.1, Muthupillai Palayam Road,
Sulthanpet Post,
Puducherry - 605 110



RAAK

COLLEGE OF ENGINEERING AND TECHNOLOGY

{Approved by AICTE, New Delhi & Affiliated to Pondicherry University)

VALUE ADDED COURSES
2020-2021
Department of Information Technology
20IT01 - Computer Graphics
NAME
CLASS :
DATE
1. What is the range of the pixels in a Grayscale image?
A.0-1
B.0-255
C.0-1024
D. None of the above
Answer: B. 0 — 255
2. The RGB image is known as the true color image. What does RGB stand for?
A. Real Grey Black Image
B. Red Greyed Background Image
C. Red Green Blue Image
D. None of the above
Answer: C. Red Green Blue Image
3. What is the pixel range for an RGB image?
A.0-8
B.0-16,777,216
C.0-1

D. None of the above
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Answer: D. None of the above (The correct range is 0-255 for each color channel)

4. Which of the following options is not correct according to the definition of Computer
Graphics?

A. Computer Graphics is used for animation purposes.

B. Computer graphics can be used to provide a better user interface.

C. Computer graphics can improve the sound quality of a video.

D. None of the above

Answer: C. Computer graphics can improve the sound quality of a video.
5. GUI stands for:

A. Graphical Usable Interface

B. Graphical User Interface

C. Graph Users Interface

D. Graphic User Interface

Answer: B. Graphical User Interface
6. PPI stands for:

A. Pixel per inch

B. Photos per iqstruction

C. Pixels per image

D. None of the above

Answer: A. Pixel per inch
7. Who among the following developed the CRT (Cathode Ray Tube)?

A. Charles Darwin

B. Ferdinand Braun

C. Thomas Alva Edison
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D. None of the above
Answer: B. Ferdinand Braun
8. The inside of the Cathode Ray Tube is coated with what material?
A. Fluorescent powder
B. No coating
C. Phosphorus
D. None of the above
Answer: C. Phosphorus
9. Which among the following is not a merit (advantage) of the Cathode Ray Tube?
A. It runs at the highest pixel ratio
B. It is less expensive than any other display technology
C. It is very large, heavy, and bulgy
D. None of the above
Answer: C. It is very large, heavy, and bulgy

10. In the context of 3D computer graphics, which of the followin g statements correctly
describes the Z-buffer algorithm?

A. It is used for resolving visibility issues in rendering scenes.
B. It operates based on the painter's algorithm.

C. It requires additional memory proportional to the square root of the number of
pixels in the frame buffer.

D. It stores the depth of the closest pixel encountered so far for each pixel in the
frame buffer.

Answer: A and D only

11. The process of repositioning an object along a circular path is called:

A. Translation
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B. Rotation

C. Scaling
D. None of the above
Answer: B. Rotation
12. Which of the following must be specified to generate a rotation?
A. Rotational distance
B. Rotation angle
C. Coordinates
D. None of the above
Answer: B. Rotation angle
13. A positive value of the rotation angle:
A. Rotates an object in the clockwise direction
B. Rotates an object in the counter-clockwise direction
C. Both of the above
D. None of the above
Answer: B. Rotates an object in the counter-clockwise direction
14. Which of the following transformation is used for altering the object's size?
A. Translation
B. Scaling
C. Rotation
D. None of the above

Answer: B. Scaling
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15. What happens if the values of scaling factors sxs_xsx and sys_ysy are less than 1 (i.e.,
sx<ls_x < 1sx<1 and sy<ls_y < 1sy<1)?

A. No change in the object's size
B. Reduce the object's size
C. Increase the object's size
D. None of the above
Answer: B. Reduce the object's size
16. In which of the following cases will uniform scaling be produced?
A. Values of scaling factors $Xs_xsx and sys_ysy are unequal.
B. Values of scaling factors sxs_xsx and Sys_ysy are equal.
C. Both of the above
D. None of the ébove
Answer: B. Values of scaling factors SXs_xsx and sys_ysy are equal.

17. The Cohen-Sutherland algorithm divides the two-dimensional space into how many
regions?

A.4

B.8

C.9

D. 23
Answer: C. 9

18. The 4-bit code of the bottom region among the nine regions divided using the Cohen-
Sutherland algorithm is:

A. 0000

B. 0010 .
C.0110 e éé%
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Answer: C, 0110

19. According to the Cohen-Sutherland al gorithm, where does the line lie if the 4-bit code of
both ends is 0000, and the logical OR also gives 0000?

A. Half outside half inside
B. Completely inside
C. Completely outside
D. None of the above
Answer: B. Completely inside
20. Which one of the following is the most commonly used and basic input device?
A. Mouse
B. Printer
C. Scanner
D. Keyboard
Answer: D. Keyboard
21. Which device is used for the 3D positioning of an object?
A. Trackball
B. Mouse
C. Spaceball
D. All of the above
Answer: C. Spaéeball
22. Which is not an input device?

A. Impact printers

B. Trackball

: \
.'/. |

Dr. S. SEENUVA URTHIJ ME,, Phe..
PRINCIPAL

RAAK College gineering & Technology
No.1, Muthupillai Palayam Road,
Sulthanpet Post,

Puducherry - 605 110




COLLEGE OF ENGINEERING AND TECHNOLOGY

[Approved by AICTE, New Delhi & Affiliated to Pondicherry University)

C. Mouse

D. Keyboard
Answer: A. Impact printers
23. is NOT a common bitmap-based file type extension.
A.ODT
B. TIFF
C. PNG
D. PCX
Answer: A. ODT

24. What is the minimum and maximum possible value for each of the pixels of an RGB
image?

A.0-273
B.0-2/24
C.0-1
D. 0-255
Answer: D. 0 — 255
25. Which of the following options is correct in accordance with the cathode ray tube?
A. CRTs are brighter than LCDs.
B. CRTs can operate at any resolution and at any aspect ratio.
C. CRTs are the most expensive display technology.
D. None of the above

Answer: B. CRTs can operate at any resolution and at any aspect ratio.
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1. What is the range of the pixels in a Grayscale image?
A.0-1 _ q é /
-
B-0-255 / '
C.0-1024 §E :

D. None of the above
2. The RGB image is known as the true color image. What does RGB stand for?

A. Real Grey Black Image

B. Red Greyed Background Image /
C/Rgc’i' Green Blue Image

D. None of the above

3. What is the pixel range for an RGB image?

A.0-8 :
B.0-16,777.216 /
C.0-1 P
None of the ab W)
D. None of the above LR GEs
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4. Which of the following options is not correct according to the definition of Computer
Graphics?

A. Computer Graphics is used for animation purposes.

B. Computer graphics can be used to provide a better user interface.

,C./fomputer graphics can improve the sound quality of

a videg.-
D. None of the above /'

5. GUI stands for:

A. Graphical Usable Interface

P./G;phical User Interface
C. Graph Users Interface /
D. Graphic User Interface

6. PPI stands for:

A<Pixel per inch

B. Photos per instruction /

C. Pixels per image

D. None of the above

7. Who among the following developed the CRT (Cathode Ray Tube)?
A. Charles Darwin

/B,Fefcl’ihand Braun '
C. Thomas Alva Edison b
| [
D. None of the above - _/1] /.J
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8. The inside of the Cathode Ray Tube is coated with what material?

A. Fluorescent powder

B. No coating /
p(lgosphorus

D. None of the above

9. Which among the following is not a merit (advantage) of the Cathode Ray Tube?

A. It runs at the highest pixel ratio

B. It is less expensive than any other display technology

,e{tis very large, heavy, and bulgy /

D. None of the above

10. In the context of 3D computer graphics, which of the following statements correctly
describes the Z-buffer algorithm?

,m used for resolving visibility issues in rendering scenes.

%

B. It operates based on the painter's algorithm. /
C. It requires additional memory proportional to the square root of the number of
pixels in the frame buffer.

p./lt stores the dep

th of the closest pixel encountered so far for each pixel in the
frame buffer,

11. The process of repositioning an object along a circular path is called:

A. Translation

B. Rotation Sl & i
<< N AV
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12. Which of the following must be specified to generate a rotation?

A. Rotational distance
B./ﬁotation angle

C. Coordinates /

D. None of the above

13. A positive value of the rotation angle:
A. Rotates an object in the clockwise direction
B Rotates an object in the counter-clockwise direction
C. Both of the above :
D. None of the above /
14. Which of the following transformation is used for altering the object's size?

A. Translation

.B/Sca.lmg .

C. Rotation /

D. None of the above

15. What happens if the values of scaling factors sxs_xsx and sys _Yysy are less than 1 (i.e.,
sx<lIs_x < 1sx<I and sy<ls_y < 1sy<1)?

A. No change in the object's size

“Bﬁuc{e the object's size = AW
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16. In which of the following cases will uniform scaling be produced?
A. Values of scaling factors sxs_xsx and sys_ysy are unequal,
}.’(alues of scaling factors sxs_xsx and sys _ysy are equal.
C. Both of the above ¢
D. None of the above /
17. The Cohen-Sutherland algorithm divides the two-dimensional space into how many
regions?
A.4
B.8 / I
o5 .
D.23

18. The 4-bit code of the bottom region among the nine regions divided using the Cohen-
Sutherland algorithm is:

A. 0000 .
B. 0010 /
o110

D. 0101

19. According to the Cohen-Sutherland algorithm, where does the line lie if the 4-bit code of
both ends is 0000, and the logical OR also gives 0000?

A. Half outside half inside

_B.€ompletely inside ) A
\Z 0 AN
A=A NYT )
C. Completely outside / _ii { WME.PRE~

NUVAS
D. None of the above pr. S. SEE [oRINCIPA- g Technolod
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20. Which one of the following is the most commonly used and basic input device?
A. Mouse
B. Printer
C. Scanner
_D:Keyboard
21. Which device is used for the 3D positioning of an object?

A. Trackball

B. Mouse ;
G Spaceball /
D. All of the above

22. Which is not an input device?
Apact printers

B. Trackball |
/

€. Mouse /

D. Keyboard

23. is NOT a common bitmap-based file type extension.

AODT

B. TIFF

> b = d N\
C. PNG / : ' "’. /o
<A ANV
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24. What is the minimum and maximum possible value for each of the pixels of an RGB
image?

A.0-273

B.0-2"24

C.0-1 /

Pr0-255

25. Which of the following options is correct in accordance with the cathode ray tube?
A. CRTs are brighter than LCDs.

/B&s can operate at any resolution and at any aspect ratio.

C. CRTs are the most expensive display technology.

D. None of the above /
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1. Which algorithm is Iinspired by the process of natural selection and genetics?
a) Ant Colony Optimization
b) Genetic Algorithm
¢) Particle Swarm Optimization
d) Simulated Annealing
Answer: b) Genetic Algorithm

2. Which technique mimics the collective behavior of decentralized, self-organized
systems like ant colonies?

a) Genetic Programming
b) Evolutionary Strategies
¢) Ant Colony Optimization
d) Artificial Neural Networks
Answer: ¢) Ant Colony Optimization
What is the main inspiration behind Particle Swarm Optimization?
a) Swarm Intelligence
b) Genetic Evolution

¢) Cellular Automata
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d) Artificial Neural Networks
Answer: a) Swarm Intelligence

4. Which algorithm is used for optimization problems and is inspired by the behavior of
birds flocking or fish schooling?

a) Ant Colony Optimization
| b) Genetic Algorithm

¢) Particle Swarm

d) Evolutionary Programming

Answer: c¢) ParticleISwarm Optimization
5. What is the main concept behind Genetic Algorithms?

a) Mimicking the behavior of ants

b) Mimicking the process of natural selection and genetics

¢) Mimicking the behavior of particles

d) Mimicking the behavior of neurons

Answer: b) Mimicking the process of natural selection and genetics
6. Cellular Automata are inspired by the behavior of:

a) Ant colonies

b) Flocking birds

c¢) Decentralized systems

d) Simple units interacting based on rules

Answer: d) Simple units interacting based on rules

7. Which algorithm is inspired by the way biological neurons process information?
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¢) Artificial Neural Networks
d) Ant Colony Optimization

Answer: c) Artificial Neural Networks

8. What does ACO stand for?
a) Artificial Computing Organization
b) Ant Colony Organization
¢) Ant Colony Optimization
d) Adaptive Computing Optimization

Answer: ¢) Ant Colony Optimization
9. Which technique involves simulating the behavior of particles in a multi-dimensional

search space?
a) Genetic Algorithm
b) Particle Swarm Optimization
¢) Ant Colony Optimization

d) Simulated Annealing

Answer: b) Particle Swarm Optimization
10. Which algorithm is used for continuous optimization problems and is inspired by the

process of natural selection?
a) Genetic Algorithm
b) Ant Colony Optimization
¢) Particle Swarm Optimization

d) Evolutionary Programming

Answer: a) Genetic Algorithm
11. Evolutionary Strategies are inspired by which natural process?
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b) Genetic mutation
¢) Flocking behavior
d) Cellular automata
Answer: a) Natural -selection
12. Genetic Programming involves evolving:
a) Solutions represented as chromosomes
b) Programs represented as trees
¢) Solutions represented as particles
d) Neural network architectures
Answer: b) Programs represented as trees

13. Which technique involves iteratively improving candidate solutions through random
mutations and natural selection?

a) Genetic Algorithm

b) Simulated Annealing

c¢) Evolutionary Programming
d) Ant Colony Optimization
Answer: a) Genetic Algorithm

14. Which algorithm is used for discrete optimization problems and is inspired by the
foraging behavior of ants?

a) Genetic Algorithm

b) Particle Swarm Optimization
¢) Ant Colony Optimization

d) Evolutionary Programming

Answer: ¢) Ant Colony Optimization

// [:J(\
Dr. S. SEENUVASAMURTHIYME., PhL.
PRINCIPAL

No.1, Muthupillai Palayam Road,
Sulthanpet Post,
Puducherry - 605 110

RAAK College ofEngineering & Technology



COLLEGE OF ENGINEERING AND TECHNOLOGY

(Approved by AICTE, New Delhi & Affiliated to Pondicherry University)

a) Simulated Annealing
b) Ant Colony Optimization
¢) Genetic Programming
d) Artificial Neural Networks
Answer: a) Simulated Annealing
16. Which of the following is NOT a nature-inspired computing technique?
a) Genetic Algorithm
b) Quicksort
¢) Ant Colony Optimization
d) Neural Networks
Answer: b) Quicksort

17. Which technique involves simulating the cooling process of metals to find an optimal
solution?

a) Genetic Al gorithm

b) Particle Swarm Optimization

¢) Ant Colony Optimization

d) Simulated Annealing
Answer: d) Simulated Annealing

18. What is the main idea behind evolutionary programming?

a) Mimicking the process of natural selection

b) Mimicking the behavior of particles

¢) Mimicking the behavior of ants

d) Mimicking the behavior of neurons

AMURTZQ M.E., Ph.C.
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19. What is the primary goal of nature-inspired computing techniques?
a) To mimic natural processes for entertainment purposes
b) To solve com plex computational problems efficiently
¢) To replace traditional computing methods entirely
d) To create artificial life forms
Answer: b) To solvg complex computational problems efficiently

20. Which technique is used for training artificial neural networks by adjusting the
connection weights based on the error between the actual and desired outputs?

a) Genetic Algorithm

b) Backpropagation

¢) Particle Swarm Optimization
d) Evolutionary Strategies
Answer: b) Backpropagation

21. Which algorithm is used for continuous optimization problems and is inspired by the
behavior of particles in a multi-dimensional search space?

a) Genetic Al gorithfn

b) Particle Swarm Optimization

¢) Ant Colony Optimization

d) Simulated Annealing
Answer: b) Particle Swarm Optimization

22. What is the primary advantage of nature-inspired computing techniques?

a) They always find the optimal solution to a problem

b) They are efficient for solving only specific types of problems

¢) They are robust and adaptive

| W)
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Answer: ¢) They are robust and adaptive

23. Which technique involves iteratively improving candidate solutions through random
mutations and natural selection?

a) Genetic Algorithm
b) Simulated Annealing
¢) Evolutionary Programming
d) Ant Colony Optimization
Answer: a) Genetic Algorithm
24. Which nature-inspired technique is based on the behavior of swarms of birds or fish?
a) Genetic Algorithm
b) Particle Swarm Optimization
¢) Ant Colony Optimization
d) Evolutionary Programming
Answer: b) Particle Swarm Optimization
25. What does the term "nature-inspired computing" refer to?
a) A type of computing based on natural language processing
b) A field of computing that mimics principles observed in natural systems
¢) A computing technique using quantum principles
d) A computing approach that ignores natural phenomena

Answer: b) A field of computing that mimics principles observed in natural systems
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1. Which algorithm is inspired by the process of natural selection and genetics?
a) Ant Colony Optimization (2/

by Genetic Algorithm / /?:%— O} Qr /

¢) Particle Swarm Optimization

d) Simulated Annealing &/_

2. Which technique mimics the collective behavior of decentralized, self-organized
systems like ant colonies?

a) Genetic Programming

b) Evolutionary Strategies /
_$)Ant Colony Optimization

d) Artificial Neural Networks

3. What is the main inspiration behind Particle Swarm Optimization?

-2 Swarm Intelligence

b) Genetic Evolution
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4. Which algorithm is used for optimization problems and is inspired by the behavior of
birds flocking or fish schooling?

a) Ant Colony Optimization

b) Genetic Algorithm / I
ﬁ’l{a:ticle Swarm

d) Evolutionary Programming

5. What is the main concept behind Genetic Algorithms?
a) Mimicking the behavior of ants

,b)’ﬁimicking the process of natural selection and genetics
¢) Mimicking the behavior of particles /
d) Mimicking the behavior of neurons
6. Cellular Automata are inspired by the behavior of:

a) Ant colonies
b) Flocking birds
p)ﬁecentralized systems
d) Simple units interacting based on rules
7. Which algorithm is inspired by the way biological neurons process information?

a) Genetic Algorithm

b) Particle Swarm Optimization

/ P
RAA#;Csl!egg__qf_Engineerf'ng & Technology
0.1, Muthupillai Palayam Road,
Sulthanpet Post, :

Puducherry . 605 110




RAAK

COLLEGE OF ENGINEERING AND TECHNOLOGY

[Approved by AICTE, New Delhi & Affifisted to Pondicherry University)

8. What does ACO stand for?

a) Artificial Computing Organization

b) Ant Colony Organization /

;}‘*ﬂt Colony Optimization
d) Adaptive Computing Optimization

9. Which technique involves simulating the behavior of particles in a multi-dimensional
search space?

a) Genetic Algorithm

_pyParticle Swarm Optimization /
¢) Ant Colony Optimization
d) Simulated Annealing

10. Which algorithm is used for continuous optimization problems and is inspired by the
process of natural selection?

p)@ic Algorithm
b) Ant Colony Optimization /

¢) Particle Swarm Optimization
d) Evolutionary Programming

11. Evolutionary Strategies are inspired by which natural process?

A)ﬁtural selection

b) Genetic mutation E o T
c) Flocking behavior / é‘/g : W
7 IV ., PhE.
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12. Genetic Programming involves evolving:

a) Solutions represented as chromosomes

Y Programs represented as trees "

¢) Solutions represented as particles /

d) Neural network architectures

13. Which technique involves iteratively improving candidate solutions through random
mutations and natural selection?

2y Genetic Algorithm
b) Simulated Annealing /
¢) Evolutionary Programming
d) Ant Colony Optimization

14. Which algorithm is used for discrete optimization problems and is inspired by the
foraging behavior of ants?

a) Genetic Algorithm

b) Particle Swarm Optimization / |
m Colony Optimization

d) Evolutionary Programming

15. Which nature-inspired technique is often used for function optimization?

/a)%ﬁﬁulated Annealing
b) Ant Colony Optimization >
¢) Genetic Programming / , g 'H\:
D e
d) Artificial Neural Networks Dr. 5. SEENUVASAMURTHI, ME.
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16. Which of the following is NOT a nature-inspired computing technique?
a) Genetic Algorithm
b)’(fli‘icksort
¢) Ant Colony Optimization
d) Neural Networks

17. Which technique involves simulati
solution?

ng the cooling process of metals to find an optimal
a) Genetic Algorithm
b) Particle Swarm Optimization

¢) Ant Colony Optimization

d){mulated Annealing

18. What is the main idea behind evolutionary programming?
,aj{ﬁ-micking the process of natural selection
b) Mimicking the behavior of particles
¢) Mimicking the behavior of ants

d) Mimicking the behavior of neurons

19. What is the primary goal of nature-inspired computing techniques?
a) To mimic natural processes for entertainment purposes

)b,]’(solve complex computational problems efficiently

¢) To replace traditional computing methods entirely e

i,

N ' 85 _PhE.
PRINEIPAL

o create artificial life forms ~ s. SEEN
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20. Which technique is used for training artificial neural networks by adjusting the
-connection weights based on the error between the actual and desired outputs?

a) Genetic Algorithm

})}’{ackpropagation

¢) Particle Swarm Optimization /

d) Evolutionary Strategies

21. Which algorithm is used for continuous optimization problems and is inspired by the
behavior of particles in a multi-dimensional search space?

a) Genetic Algorithm
h)ﬁnicle Swarm Optimization '
¢) Ant Colony Optimization /
d) Simulated Annealing
22, What is the primary advantage of nature-inspired computing techniques?
a) They always find the optimal solution to a problem

b) They are efficient for solving only specific types of problems

,.eﬂiey are robust and adaptive P

d) They are easy to implement but often slow /

23. Which technique involves iteratively improving candidate solutions through random
mutations and natural selection?

;)'Gﬁetic Algorithm

b) Simulated Annealing
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24. Which nature-inspired technique is based on the behavior of swarms of birds or fish?
a) Genetic Algorithm
/b)fP’articIe Swarm Optimization
¢) Ant Colony Optimization

d) Evolutionary Programming

25. What does the term "nature-inspired computing" refer to?
a) A type of computing based on natural language processing

A field of computing that mimics principles observed in natural systems

¢) A computing technique using quantum principles "
d) A computing approach that ignores natural phenomena /
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24. Which nature-inspired technique is based on the behavior of swarms of birds or fish?
a) Genetic Algorithm
/b)’fanicle Swarm Optimization
¢) Ant Colony Optimization

d) Evolutionary Programming

25. What does the term "nature-inspired computing” refer to?
a) A type of computing based on natural language processing

A field of computing that mimics principles observed in natural systems

¢) A computing technique using quantum principles f

d) A computing approach that ignores natural phenomena /

s
\ a,\!?}
A |
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1. By whom and when were the Bayesian methods applied first?
a) Smith-Waterman, 1981

b) Agarwal and States, 1996

¢) Smith-Waterman, 1996

d) Agarwal and States, 1981

Answer: b

2. With the application of Bayesian methods, the most probable repeat length and
evolutionary time since the repeat was formed may be derived.

a) True

b) False

Answer: a

3. If the purpose is to calculate the probability of one event AND a second event, the odds
scores for the events are

a) added

b) multiplied

¢) multiplied and added

d) subtracted

Answer: b

4. In a type of probability, analysis is to calculate the odds score for one event OR a sécond
event, or of a series of events. In this case, the odds scores are

a) multiplied

b) subtracted /ﬁ VASAMURTHI, ME., PhE
¢) added and multiplied gl SE? LPR;?(;!PAL R
d) added !AAK College of Engineering & Technology

No.1, Mtthupillai Palayam Road.
Suithanpet Post,
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Answer: d

5. In Bayesian methods, difficulty with making estimations is that the estimate depends on
the following Assumption. (Assumption — The mutation rate in sequences has been constant
with time and that the rate of mutation of all nucleotides is the same.)

a) True '

b) False

Answer: a

6. Another difficulty in Bayesian methods is deciding on the length of sequence that was
duplicated.

a) True

b) False

Answer: a

7. A length and distance that gives the hi ghest overall probability may then be determined.
Such alignments are initially found using

a) a particular scoring matrix only

b) an alignment algorithm only

¢) an alignment algorithm and a particular scoring matrix

d) dot method

Answer: ¢

8. Which of the following feature of Bayesian methods is the disadvantage of it?

a) A length and distance that gives the highest overall probability may be determined
b) They are used to calculate evolutionary distance

¢) Computationally Bayesian methods are better

d) A specific mutational model is required

Answer: d

9. Zhu (1998) have devised a computer program called the Bayes block aligner which in
effect slides____ sequences along each other to find the ungapped regions or blocks.
a) two, least scoring

b) two, highest scoring

¢) multiple, highest scoring
d) multiple, least scoring

Dr. S, SEENUVASAMURTHI, mE. Ph.C..
[ PRINCIPAL
RAAK College\o_f,Engineering & Technology
No.1, Muthupiliaj Palayam Road,
Sulthanpet Post,
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Answer: b

10. Unlike the commonly used methods for alj gning a pair of sequences, the Bayesian
method using a particular scoring matrix or desi gnated gap penalties.

a) does not depend on

b) depends on

¢) is based on

d) involves

Answer: a

11. Which of the following is incorrect regarding pair wise sequence alignment?

a) The most fundamental process in this type of comparison is sequence alignment

b) It is an important first step toward structural and functional analysis of newly determined
sequences

¢) This is the process by which sequences are compared by searching for common character
patterns and establishing residue-residue correspondence among related sequences

d) It is the process of aligning multiple sequences

Answer: d

12. Which of the following is incorrect about evolution?

a) The macromolecules can be considered molecular fossils that encode the history of
millions of years of evolution

b) The building blocks of these biological macromolecules, nucleotide bases, and amino acids
form linear sequences that determine the primary structure of the molecules

¢) DNA and proteins are products of evolution

d) The molecular sequences barely undergo changes

Answer: d

13. The presence of evolutionary traces is because some of the residues that perform key
functional and structural roles tend to be preserved by natural selection; other residues that
may be less crucial for structure and function tend to mutate more frequently.

a) True

b) False

Answer: a

Dr. S. SEENUYA AMURTHI, ME., PhL..
PRINCIPAL
RAAK College of Engineering & Technology
No.1, Muthupillai Palayam Road.
Sulthanpet Post,
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14. The degree of sequence variation in the alignment reveals evolutionary relatedness of
different sequences, whereas the conservation between sequences reflects the changes that
have occurred during evolution in the form of substitutions, insertions, and deletions.

a) True

b) False

Answer: b

15. If the two sequences share significant similarity, it is extremely that the extensive
similarity between the two sequences has been acquired randomly, meaning that the two
sequences must have derived from a common evolutionary origin.

a) unlikely

b) possible

c) likely

d) relevant

Answer: a

16. Sometimes, it is also possible that two sequences have derived from a common ancestor,
but may have diverged to such an extent that the common ancestral relationships are not
recognizable at the sequence level.

a) True

b) False

Answer; a

17. Which of the following is incorrect regardin g sequence homology?

a) Two sequences can homologous relationship even if have do not have common origin
b) It is an important concept in sequence analysis

¢) When two sequences are descended from a common evolutionary origin, they are said to
have a homologous relationship

d) When two sequences are descended from a common evolutionary origin, they are said to
share homology

Answer: a

18. Sequence similarity can be quantified using homology is a statement.
a) percentages, quantitative

b) percentages, qualitative ("’/,’ / '\m,i}
c) ratios, qualitative Oé. & N g/‘\i g
r. 8. SEENUVAFA WRTHI, Mg, py
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d) ratios, quantitative
Answer: b

19. Shorter sequences require higher cutoffs for inferring homologous relationships than
longer sequences.

a) True

b) False

Answer: a

20. Sequence similarity and sequence identity are synonymous for nucleotide sequences and
protein sequences as well.

a) True

b) False

Answer: b

21. The overall goal of pair wise sequence alignment is to find the best pairing of two
sequences, such that there is maximum correspondence among residues.

a) True

b) False

Answer: a

22. In local alignment, the two sequences to be aligned cannot be of unequal lengths.
a) True

b) False

Answer: b

23. Alignment algorithms, both global and local, are fundamentally similar and only differ in
the optimization strategy used in aligning similar residues.

a) True

b) False

Answer: a

24. In a dot matrix, two sequences to be compared are written in the of the
matrix.,

a) horizontal and vertical axes

b) 2 parallel horizontal axes

¢) 2 parallel vertical axes

d) horizontal axis (one preceding another)
Answer: a '
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1. By whom and when were the Bayesian methods applied first?
a) Smith-Waterman, 1981

b)yAgarwal and States, 1996
¢) Smith-Waterman, 1996 /
d) Agarwal and States, 1981

2. With the application of Bayesian methods, the most probable repeat length and
evolutionary time since the repeat w?focmed may be derived.

2yTrue

b) False

3. If the purpose is to calculate the probability of one event AND a second event, the odds
scores for the events are

a) added

byfultiplied /

¢) multiplied and added

d) subtracted

4. In a type of probability, analysis is to calculate the odds score for one event OR a second
event, or of a series of events. In this case, the odds scores are
a) multiplied

."

Hoa
b) subtracted /
wd S am L Dr. S. SEENUVASAMURTHI, ME., Ph.L.
ded PRINCIPAL
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SET
5. In Bayesian methods, difficulty with making estimations is that the estimate depends on

the following Assumption. (Assumption — The mutation rate in sequences has been constant
with time and that the rate of mutation of all nucleotides is the same.)

@) True

b) False /

6. Another difficulty in Bayesian methods is deciding on the length of sequence that was
duplicated.

))’f rue
b) False /

7. A length and distance that gives the highest overall probability may then be determined.
Such alignments are initially found using

a) a particular scoring matrix only

b) an alignment algorithm only

¢) an alignment algorithm and a particular scoring matrix

;:lf)%t method

rd

8. Which of the following feature of Bayesian methods is the disadvantage of it?
a) A length and distance that gives the highest overall probability may be determined
b) They are used to calculate evolutionary distance

¢) Computationally Bayesian methods are better /
specific mutational model is required

9. Zhu (1998) have devised a computer program called the Bayes block aligner which in
effect slides ____ sequences along each other to find the ungapped regions or blocks.
a) two, least scoring

_b)two, highest scoring 53
¢) multiple, highest scoring /
d) multiple, least scoring

10. Unlike the commonly used methods for aligning a pair of sequences, the Bayesian
method using a particular scoring matrix or designated gap penalties.

.8)-ddes not depend on 2 D P\
AW
b) depends on / i *j\l\j\ "/\

¢) is based on
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_d) involves pr. S. SEENUVR
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11. Which of the following is incorrect regarding pair wise sequence alignment?

a) The most fundamental process in this type of comparison is sequence alignment

b) It is an important first step toward structural and functional analysis of newly determined
sequences

c) This is the process by which sequences are compared by searching for common character

patterns and establishing residue-residue correspondence among related sequences
[d‘){;:s the process of aligning multiple sequences /1

12. Which of the following is incorrect about evolution?
a) The macromolecules can be considered molecular fossils that encode the history of
millions of years of evolution
b) The building blocks of these biological macromolecules, nucleotide bases, and amino acids
form linear sequences that determine the primary structure of the molecules
¢) DNA and proteins are products of evolution

e molecular sequences barely undergo changes /

13. The presence of evolutionary traces is because some of the residues that perform key
functional and structural roles tend to be preserved by natural selection; other residues that
may be less crucial for structure and function tend to mutate more frequently.

rue
b) False

14. The degree of sequence variation in the alignment reveals evolutionary relatedness of
different sequences, whereas the conservation between sequences reflects the changes that
have occurred during evolution in the form of substitutions, insertions, and deletions.

a) True '
byFalse /
15. If the two sequences share significant similarity, it is extremely that the extensive

similarity between the two sequences has been acquired randomly, meaning that the two
sequences must have derived from a common evolutionary origin.

_ayunlikely : i =
b) possible P’f/ L
¢) likely P \:f&ww -|

TN Dr. S. SEENUVASAMURTHI, M£. Ph-
. | PRINF"‘PA'L & Technology
RAAK Collegé-e@‘r’:ngmeenng el
No.4, Muthupillai Palayam :
' guthanpet Post.
2 curry - 605 17




RAAK

COLLEGE OF ENGINEERING AND TECHNOLOGY
{Approved by AICTE, New Dellsi & AHiliated to Pondicherry University}

16. Sometimes, it is also possible that two sequences have derived from a common ancestor,
but may have diverged to such an extent that the common ancestral relationships are not
recognizable at the sequence level.

T

b) False

17. Which of the following is incorrect regarding sequence homology?

,a)%:“sequences can homologous relationship even if have do not have common origin
b) It is an important concept in sequence analysis

¢) When two sequences are descended from a common evolutionary origin, they are said to
have a homologous relationship

d) When two sequences are descended from a common evolutionary origin, they are said to
share homology /d

18. Sequence similarity can be quantified using homology is a statement.
a) percentages, quantitative
percentages, qualitative

¢) ratios, qualitative
d) ratios, quantitative

19. Shorter sequences require higher cutoffs for inferring homologous relationships than
longer sequences. .

2) True /
b) False

20. Sequence similarity and sequence identity are synonymous for nucleotide sequences and
protein sequences as well.

a) Tru_q_;_ /
b)-False

21. The overall goal of pair wise sequence alignment is to find the best pairing of two
sequences, such that there is maximum correspondence among remédpﬁ ‘

.\,

/ =y W
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22. In local alignment, the two sequences to be aligned cannot be of unequal lengths.
a) True
alse

23. Alignment algorithms, both global and local, are fundamentally similar and only differ in

;h?_mnlzatlon strategy used ymg similar residues.
rue

b) False

24. In a dot matrix, two sequences to be compared are written in the of the
matrix. :

a)’hfrizontai and vertical axes

b) 2 parallel horizontal axes

c) 2 parallel vertical axes

d) horizontal axis (one preceding another)

25.When the two sequences have substantial regions of similarity, many dots line up to form
contiguous lines.

a) crossings on
orizontal /
c) diagonal

d) vertical

9*“

Dr. S. SEENUVAS I, ME., Ph.C.
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